
■ 同じ重さになるように数字を入れましょう。

キログラムとトン
年 組 名前

/24

① 7  830kg ＝ kgt

② 1800kg ＝ kgt

③ 3  4kg ＝ kgt

④ 4  50kg ＝ kgt

⑤ 20 ＝ kgt

⑥ 680000kg ＝ t

⑦ 59200kg ＝ kgt

⑧ 1  20kg ＝ kgt

⑨ 860 ＝ kgt

⑩ 1008kg ＝ kgt

⑪ 1  650kg ＝ kgt

⑫ 1070kg ＝ kgt

⑬ 34  700kg ＝ kgt

⑭ 8 ＝ kgt

⑮ 106 ＝ kgt

⑯ 5900kg ＝ kgt

⑰ 10  300kg ＝ kgt

⑱ 70000kg ＝ t

⑲ 11000kg ＝ t

⑳ 400 ＝ kgt

㉑ 500000kg ＝ t

㉒ 1000kg ＝ t

㉓ 40  100kg ＝ kgt

㉔ 8140kg ＝ kgt



■ 同じ重さになるように数字を入れましょう。

キログラムとトン
年 組 名前

/24

① 7  830kg ＝ kg7830t

② 1800kg ＝ kg1 800t

③ 3  4kg ＝ kg3004t

④ 4  50kg ＝ kg4050t

⑤ 20 ＝ kg20000t

⑥ 680000kg ＝ 680 t

⑦ 59200kg ＝ kg59 200t

⑧ 1  20kg ＝ kg1020t

⑨ 860 ＝ kg860000t

⑩ 1008kg ＝ kg1 8t

⑪ 1  650kg ＝ kg1650t

⑫ 1070kg ＝ kg1 70t

⑬ 34  700kg ＝ kg34700t

⑭ 8 ＝ kg8000t

⑮ 106 ＝ kg106000t

⑯ 5900kg ＝ kg5 900t

⑰ 10  300kg ＝ kg10300t

⑱ 70000kg ＝ 70 t

⑲ 11000kg ＝ 11 t

⑳ 400 ＝ kg400000t

㉑ 500000kg ＝ 500 t

㉒ 1000kg ＝ 1 t

㉓ 40  100kg ＝ kg40100t

㉔ 8140kg ＝ kg8 140t


